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Sl. No.1
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Find out which part of the following sentence has an error

(1) Elevate the object of worship
(2) Ethical element is a powerful factor in
(3 The religious relation. and the religious life

(4) No Error

(1) 1
(2) 2
3) 3
(4) 4

farafafiaa § dca | 3= 24 are avf 98 2

(1) =2 (2) «
(3 0| 4) <
1) 1

(2) 2

3) 3

(4) 4

1[Option ID=15901]
2[Option ID=15902]
3[Option ID=15903]
4[Option ID=15904]

Sl. No.2
QBID:1007252

Identify the correct indirect speech of the sentence from the option given below :

Neeta said. "Mohan. please open the windows™.

(1) Neeta requested Mohan to open the windows
(2) Neeta ordered Mohan to open the windows
(3) Neeta requested him to open the windows

(4) Neeta asked Mohan telling him to open the windows

1) 1
(2) 2
(3) 3
4) 4




&=t 1wl & od R 20

(A) sl
(B) Eaull

(C)  HYEH
(D) HITEH
(E) #Had

419 feu mu faedi 0 g | I 1 22 dhifau

(1) (B). (C). (D). (E). (A)
(2) (B). (D), (C). (E). (A)
(3 (B). (E). (D). (C). (&)

(4) (C). (B). (D). (A). (E)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15905]
2[Option ID=15906]

3[Option ID=15907]
4[Option ID=15908]

Sl. No.3
QBID:1007253

From among the four options given. choose the correct sequence in which the four
phrases given below can be arranged to make a meaningful sentence

(A) or in summer

(B) is either in winter

(C) depending on which hemisphere

(D)  vou live in. Christmas

(1) (B). (A). (C). (D) (2) (O (D) (B). (A4)
(3) (D). (B). (A). (C) 4y (A (C). (D). (B)
(1) 1
(2) 2
3) 3

(4) 4




et & wed U fr=fafiaa az w fa=m Fifaw -

(A)  ER % =9 I garE #1372 - gEfiEa g5 o)
(B)  gersr T off yran & wor 2 2

(C) e & =91l | gel war & T8 &

(D) HEE AT ohl U1 b HER TR e )

(E)  HETAT ¥eg Yeld: 3l W9l &1 veg 2

Fre feu mu foreredi d @ ol 39 6 =Ea Hifa
(1)  =ae (A). D). (E)
(2)  %de (B). (D). (E)
(3)  @ae (B). (C). (E)

(4)  &ad (A). (B). (E)

1)1
(2) 2
3) 3
4) 4
1[Option ID=15909]
2[Option ID=15910]

3[Option ID=15911]
4[Option ID=15912]

Sl. No.4
QBID:1007254

“Leaders from all over the world wish to emulate Mahatma Gandhi.” From the following
options pick the correct synonyvm of the word in italics

(1) Obey (2) Elevate
(3 Praize (4) Copy

1)1

(2) 2

3) 3

4) 4

feretmy sreg f0 Fad 27

(1) ol 9reg Ush g 3 =4 2

(2)  T59 vredl =1 I=R0 AT 59E 2 S 319 fm-faa 2
(3) A e Fd 19 3f I=mw v A

(4) 1 e wred faaf| 51 =5ard 2

1)1

) 2
3) 3




(4) 4

1[Option ID=15913]
2[Option ID=15914]
3[Option ID=15915]
4[Option ID=15916]

Sl. No.5
QBID:1007255

Given below are two statements :

Statement I: If the word begins with a consonant sound vou would use an.

Statement II : If the word begins with a vowel zound you would uze a.

In light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true

(2) Statement I 1= tirue but Statement IT 1s falze

(3) Both statement I and Statement IT are false

(4) Statement I 1s false but Statement II 1s true

1)1
(2) 2
3) 3
(4) 4

g wigen 2 foradl i) § @rga 2 o H @ 21 47 A fee vew @ 27

(1)  HYa ar (2) =& ar
(3) oy am (4) 39 9E

1) 1
(2) 2
3) 3
4) 4
1[Option ID=15917]
2[Option ID=15918]

3[Option ID=15919]
4[Option ID=15920]

Sl. No.6
QBID:1007256

Match List I with List IT ;

ListI List IT

(word) (svnonym)
(A) novice (I) henpecked
(B) wrath (II' indecent
(Cy ribald (ITI} beginner
(D) uxorious (IV) rage

Choose the correct answer from the options given below :

(1) (A)-(IV). (B)-(II1). (C)-(I). (D)-(I)
(2) (A)-(IT). (B)-(IIT). (C)-(D). (D)-(IV)
(3) (A)-(IIT). (B)-(IV). (C)-(IT). (D)-(D)
(4 {(A)-(IV). (B)-(IIT). (C)-(T), (D)-(IT)




(1) 1
(2) 2
3) 3
(4) 4

“oft 711 # wema &1 g9 arey 1 wH-1 Wig U 53 27

(1) 24 "Gus (2) 9l FieH
(3) =i digs (4) v dige
(1) 1

(2) 2

3) 3

4) 4

1[Option ID=15921]
2[Option ID=15922]
3[Option ID=15923]
4[Option ID=15924]

Sl. No.7
QBID:1007257

Choose the correctly spelt word

(1) Conolsseur (2y Connolsseur

(3) Connelsseur {(4) Connaissueur

(1) 1
() 2
3) 3
(4) 4

1 & 94 4 54 fawe 1 =aq fifse

(1) 34 gegee 1 51 foen) (2) 34 gegde foe)
(3) 38 g fye) (4) 3" wa faefi|
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=15925]
2[Option ID=15926]
3[Option ID=15927]
4[Option ID=15928]

Sl. No.8
QBID:1007258

Which of the following i1s a one-word substitute for ‘the affective bond between people and
place™

(1) Topophilia {2) Biophilia
(3) Neophilia (4} Acrophilia
(1) 1
) 2
(3) 3

(4) 4




fefeafiga 4 vg a9 # -

(A) v 1 T Bl 2|

(B) 319 Al TH &% T gd Fell

(C)  gud feq g 3 femm e feu)
(Dy e S w1 g9 He AT T

(E)  Taenferi = @igg faen wifa 20 =nfen)

i feu o famedi 0 | | 39 % 939 Fifu
(1) a4 (A). (C). (E)
(2)  Had (C). (D). (E)
(3)  dd (B). (C). (D)

(4) &g (A). (B). (O)

1) 1
(2) 2
3) 3
4) 4
1[Option ID=15929]
2[Option ID=15930]

3[Option ID=15931]
4[Option ID=15932]

Sl. No.9
QBID:1007259

Fill up the blank with the correct from of verb :

Seven vears not a long time for the growth of a company.
(1) are (2) would
(3) were (4) 1is

1) 1

2) 2

(3) 3

(4) 4




gl 1 |19 g+t 11 &1 fgem Fifau

411 {111
(&) b avH SE g AE (D) A
(B) Formepr foig 3 23 2 (II) izt
(C) st sfian 9 w0 | (IID)  3afvffd
(D) o1 18 917 9 7 (IV) 314

dra few o faenegi 4 @ @8 390 &1 =99 Fifu

(1) (A)-(I). (B)-(IL). (C)-(III). (Dy-(IV)
(2) (A)-(IID). (B)-(IV). (C)-(I). (D)-(IL)
(3) (A)-(IV). (B)-(T}). (C)(II). (D)-(IIT)
(4) (A)-(IT), (B)-(III), (C)-(IV). (D)-(I)

1) 1

(2) 2

3) 3

4) 4

1[Option ID=15933]
2[Option ID=15934]
3[Option ID=15935]
4[Option ID=15936]

Sl. No.10
QBID:1007260

Identify active volce for the sentence from the option given helow :

The Queen was moved to tears at the sight of the hungry children
(1) The sight of the hungry children moved the Queen to tears
(2) The sight of the hungry children has moved the Queen to tears
(3) The sight of the hungry children moves the Queen to tears
(4) The sight of the hungry children had moved the Queen to tears

1) 1
) 2
3) 3
(4) 4




EqTaTsfie

(A) fean smen 21
B)  Hfaw

(C) qgshH T
(D) Wi b

(E) DIE]

Hr feu o faeredi 8 | A I @ gEq Fifa
(1) (D). (C). (B). (E). (&)
(2) (A). (B). (C). (D). (E)
(3) (B). (C). (D). (A). (E)

(4) (C). (D), (E). (A (B)

(1)
(2)
(3)
(4)

A W N =

1[Option ID=15937]
2[Option ID=15938]
3[Option ID=15939]
4[Option ID=15940]

Sl. No.11
QBID:1007261

Consider the following statements about Scientific Discoveries/Inventions :

(&) Electric Computer was invented by Dr. Alam M. Turing
(B) Steam Car was invented by Karl Benz

(C) Electric Battery was invented by Alessandra Volta

(D) Printing Press was invented by John Guttenberg

(E) Radio was invented by Alexander Graham Bell

Choose the correct answer from the options given helow :

(1) (E) Only

(2) (A). (B) and (E) only
(3) (B) and (E) only

(4) (A) and (D) only

(1)1
(2) 2




3) 3
(4) 4

e @it/ antaswnt & dg4 # fFefafes o w fa=m S
(A)  soffezs wecger =1 sfashr . 1 o, gfor 4 R o)
(B) et siedt 4 W W 1 AR T |

(C)  HATgT dieal + soifags szd =1 anfassn == a1

(D) = T 7 fafen wa # smfaswn )

(E)  STiooist UTeH ot o (Al &1 SAfashn fF 2|

i fou v faememt | 9 wE e o =9 il
(1)  @a= (E)
(2)  Fae (A). (B) 3 (E)
(3)  ae (B) IR (E)
(4)  Fae (A) #F(D)
(1)
2

(3)
(4)

A W N =

1[Option ID=15941]
2[Option ID=15942]
3[Option ID=15943]
4[Option ID=15944]

Sl. No.12
QBID:1007262

Match List I with List II

List I List IT

(A) Election Commission of India (Il Article 338

(B) National Commission for (IT) Article 148
Schedule Castes

{(C) TFinance Commission (IIT) Article 324

(D) Comptroller and Auditor (IV) Article 280

General of India

Choose the correct answer from the options given below :

(1) (A)-(I). (B)-(IT). (C)-(IIL). (D)-(IV)
(2) (A)-(I). (B)-(IID). (C)-(IV}, (D)-(IT)
(3) (A)-(IV). (B)-(I1I). (C)-(IT). (D)-(T)
(4) (A)-(IID), (B)-(I). (C)-(TV). (D)-(ID)
(1)
(2)
3)
(4)

A W N =




Tt 1% gt 11 =1 fies i

Tf-I T-II
(A) wra fates smm (I) =35 338
(B) T weEEa Sitd (II) =35 148
(C) T i (III) =35 324

(D) WA = 6 v gereE e (IV) =35 280

i fou v faemeTt ° O =& 9 S 9w it

(1) (A)-(T). (B)-(II). (C)-(III). (D)-(IV)
2) (A)-(I). (B)-(III). (C)-(IV). (D)-(IT)
(3) (A)-(TV). (B)-(IIT). (C)-(11). (D)-(T)
(4) (A)-(IIT). (B)-(I). (C)-(IV), (D)-(II)

(1)
(2)
(3)
(4)

A W N =

1[Option ID=15945]
2[Option ID=15946]
3[Option ID=15947]
4[Option ID=15948]

Sl. No.13
QBID:1007263

Arrange the following in chronological order :
(A) Dandi March

(B) Simon Commission

(C) Poona Pact

(D) Gandhi Irwin Pact

Choose the correct answer from the options given below :

(1) (B). (4). (C). (D)
(2) (B). (A). (D). (C)
(3) (D). (A). (B). (C)

(4) (D). (C). (B). (A)

(1)
(2)
3)
(4)

A W N =




(A FEAE

(B)  =AEm FHE

(C) o mwE

(D) gt Tt

4= fou o fawe § O w3 =59 i

(1) (B). (A4). (0). (D)
(2) (B). (A). (D). (C)
(3) (D). (A). (B). (C)

(4) (D). (C). (B). (A)

(1)
(2)
(3)
(4)

A W N =

1[Option ID=15949]
2[Option ID=15950]
3[Option ID=15951]
4[Option ID=15952]

Sl. No.14
QBID:1007264

Arrange the following Changes in Constitution though Constitutional Amendments in

Chronological order :

{A) 33 percent reservation of certain seats and kev positions within the panchavat to

Women.
(B) Insertion of 10t Schedule.

(C) Reduce the voting age from 21 vears to 18 vears for Lok Sabha and State Legislative

Assembly Elections.
(D) Introduction of GST.

(E) Addition of "Socialist’. ‘Secular’ and ‘Integrity’ in the Preamble of the Constitution.

Choose the correct answer from the options given below :

(1) (C). (B). (E). (A). (D)
(2) (E). (D). (A). (C). (B)
(3 (E). (B). (C). (A). (D)
(4) (D). (A). (B). (C). (E)

1) 1




2) 2
3) 3
(4) 4

FAH FEET §R1 HiagH H Fefertga giEdal $ Fems § Fatedy i -

(A)  v=mEa | Afgene 7y Ffvea diel va v@ vt w33 wihwa swem
(B)  10e g #1 Gk

(C)  AhE vF U=F faum @91 9l Bd Sag A g 21 99 F 18 99 oA e
(D) it um 2 i IEeTE
(E)  dfaas =i e 0 oesEnl U A swEear s 5$H= )

4= fou o fawen 4 o w3 = =399 Fiteu

(1) (C). (B). (E). (A). (D)
(2) (E). (D). (A). (C). (B)
(3) (E). (B). (C). (A). (D)
(4) (D). (A). (B). (C). (E)
1)
(2)

(3)
(4)

A W N =

1[Option ID=15953]
2[Option ID=15954]
3[Option ID=15955]
4[Option ID=15956]

Sl. No.15
QBID:1007265

Who is the winner of Jnanpith Award 20227
(1) Damodar Mauzo — Konkam
(2) Akkitham Achuthan Namboothir — Malayalam
(3) Amitav Ghosh — English
(4) . Sankara Kurup — Malavalam
(1)
(2)

(3)
(4)

TS IR 2022 1 faar i 27

(1) oG @t — Hiwoi (2) AR =g T - AeEeE
(3)  wAfuaE g - st (4) f. o= FET - HeAEH

A W N =

1 1
(2) 2
3) 3




(4) 4

1[Option ID=15957]
2[Option ID=15958]
3[Option ID=15959]
4[Option ID=15960]

Sl. No.16
QBID:1007266

If a lady starting from Neera. met with Aasha and then with Kamala and after this she met
with Diana and then with Paanu. Assuming that during this entire period she walked 1n a
straight line. then how much total distance did she cover?

(1) 2156 m (2) 315m
(3) 115m {4y 2256 m

1)1
(2) 2
3) 3
(4) 4

T Higal 71 % UE ° = IE Bl 8, A d Hedl 3 oA R wnen 9 fGedt 21 sees 9 98 sEa A
et 3t 9 o ©| =% AMd 50 7 95 59 g siaty | Hd Tan | =elt, 39 $e e gl o i 7

(1) 215 i, (2) 315 .
(3) 115 . (4) 225 .

1 1
(2) 2
3) 3
(4) 4
1[Option ID=15961]
2[Option ID=15962]

3[Option ID=15963]
4[Option ID=15964]

Sl. No.17
QBID:1007267

Varlous terms of an alphabet series are ziven with cne term missineg.

AZ. GT. MN. . YB

Choose the correct answer from the options given below :

(1) KF (2) SH
(3 RX 4 TS
1 1
(2) 2
3) 3

(4) 4




ot anferet o fafae 17 fod gu # 59 & oF ug 9 2|

=

AZ. GT, MN, .YB
e o fawedl O T8 3 #1999 Hien)
(1) KEF (2y SH
(3) RX 4 TS
1) 1
(2) 2
3) 3
4) 4

1[Option ID=15965]
2[Option ID=15966]
3[Option ID=15967]
4[Option ID=15968]

Sl. No.18
QBID:1007268

The statement — "A person without an aspiration is like a computer without a software.
exemplifies which of the following tyvpes of arguments?
(1) Argument from Analogy (2) Predictive Argument
(3 Inductive Generalization (4) Deductive Generalization
(1) 1
(2) 2
(3) 3
(4) 4

“ToAT TR % HIE At 99 @ R S99 6 @eEm W FPgE|” - 98 9w Fefigd 3 5 9ER % a6

i 3o 27

(1)  =wyEa @ (2) o=l a5
(3)  ATTEATCH® T (4) >FEa-uEgE
(1) 1
) 2
3) 3
(4) 4

1[Option ID=15969]
2[Option ID=15970]
3[Option ID=15971]
4[Option ID=15972]

Sl. No.19
QBID:1007269




Which of the following statements are equivalent to the statement ‘No teachers are

bureaucrats™?

(A) No bureaucrats are teachers.
(B) All teachers are non-bureaucrats
(C) All non-teachers are non-bureaucrats.

(D) Some non-teachers are non-care bureaucrats.

Choose the correct answer from the options given below :

(1) (A). (B) and (D) only
(2) (A) and (B) only

(3) (A). (B) and (C) only
(4) (B). (C) and (D) only

(1) 1
(2) 2
3) 3
(4) 4

fa=feifiaa & @ %19 4 a3 39 999 & Tded & — “FiE 9 s 6 2

(&) I AFETE e =
(B) = T -t E
(C) B -foes - 2
D)  Fo - f-twaE 2

H= fou o fapeat 4 © @ = = == Fifsw
(1)  haet (A). (B) 3t (D)

(2)  Hae (A) I (B)

(3)  Hae (A). (B) 3 (0)

(4) = (B), (C) 3 (D)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15973]
2[Option ID=15974]

3[Option ID=15975]
4[Option ID=15976]




Sl. No.20
QBID:1007270

Which of the following statements are equivalent in meaning to the statement "All nurses are

care givers?

(A) No nurses are not non-care givers.
(B) All non-care givers are non-nurses.
(C) All non-care givers are nurses.

(D) All non-nurses are non-care givers.

Choose the correct answer from the options given below :

(1) (A). (B) and (D) only
(2) (A) and (B) only
(3) (A). and (D) only

4 (C) and (D) only

1)1
(2) 2
3) 3
(4) 4

=ieilas ool § § %4 9 ad 59 g o guEiEl & - 9 98 S Wl 8

(A)  wre f T w-tEaeEal T8 2|

(B)  AH -c@weal -4 7|
(C) =R W zEaerdl 94 &
(D) =R T8 R-cEuedd 2

Hiw fou v Tl A @ "El IO 1 959 P00
(1) == (A). (B) @R (D)

(2)  Hae (A) 3 (B)

(3) @A (A) 3R (D)

(4) == (C) 3 (D)

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=15977]
2[Option ID=15978]




3[Option ID=15979]
4[Option ID=15980]

Sl. No.21
QBID:1007271

A single 6—sided dice 1s rolled. The probability of getting either 2 or 5 1s

(1) (2)

(3) 4)

il bl
e T )

(1)
(2)
3)
(4)

A W N =

TF AR 6-TSE TET T AT 2| 2 AT S A A g
(1) (2)

(3) (4)

Lol = pol
= | e

(1)
(2)
(3)
(4)

A W N =

1[Option ID=15981]
2[Option ID=15982]
3[Option ID=15983]
4[Option ID=15984]

Sl. No.22
QBID:1007272

A student has to score 35% marks to pass an examination. If he gets 45 marks and fails by

25 marks, then the marks set for the examinations 1s

(1) 100 (2) 150

(3) 300 (4) 200
(1)
(2)
3)
(4)

u feremelf i wlien ® I B9 % 35% WHE FE0) AfG 98 45 WHIE 9TH FAT 8 SR 25 WIHER # S0
=1 S 2| 9 WA o afashan 37 2

A W N =

(1) 100 (2) 150
(3) 300 (4) 200

(1)
(2)
(3)
(4)

A W N =

1[Option ID=15985]
2[Option ID=15986]




3[Option ID=15987]
4[Option ID=15988]

Sl. No.23
QBID:1007273

Match List I with List IT
TistI List II

{A) Discriminate of equation (I)  has no real root
ax” +bx +¢c=0

(B) x>+4x+9=0 (IT) has only are root
(C) x>+4x+4=0 (IIT) has two roots
D) x>+4x+3=0 (IV) is b® —4ac

Choose the correct answer from the options given below :

(1) (A)-(I). (B)-(IT). (C)-(I1IT). (D)-(IV)
(2) (A)-(ID). (B)-(I). (C)-(IV), (D)-(1II)
(3) (A)-(D). (B)«(IV). (C)-(IIT). (D)-(IT)
(4) (A)-(IV). (B)-(I). (C)-(I). (D)~(111)

(1) 1

(2) 2

3) 3

4) 4

T 1% w2 gt 11 =1 foem Hisw

I Tefi-11

A) wdFor ax® +bx+c=0 w1 fafr 2] (D I ARl B T A
(B) x"+4x+9=0 (II) 1 Fael OF Trfas = 2
(C) x*+4x+4=0 (III) = 51 arxta® & 21

D) x*+4x+3=0 V) b2 _dac

= fou v fareal 4 @ |E 39 1 =99 i

(1) (A)-(I). (B)-(IL). (C)-(III). (D)-(IV)
(2) (A)-(I1). (B)-(D). (C)-(IV). (D)-(1I1)
(3) (A)-(D). (B)-(IV). (C)-(I1I). (D)-(II)
(4) (A)-(TV). (B)-(T). (C)-(IT). (D)-(I1IT)

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15989]
2[Option ID=15990]

3[Option ID=15991]
4[Option ID=15992]

Sl. No.24
QBID:1007274




Given below are two statements :
StatementI: A and B can do a pilece of work in 40 days and 50 days respectively. Both
begin together. but after a certain time. A leaves the work. In this case. B

finishes the remaining work in 20 davs. A leaves the work in 13 days.

Statement IT: If 12 men can finish a work in 20 days. same work can be finished by 15 men
in 16 days.

In the light of the above statements. choosze the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II 1s false
(4) Statement I 1s false but Statement IT is true

1) 1

) 2

3) 3

(4) 4
g s e g .

FAI: A 3R B vF T F w99 40 feT @ 50 oA A i =t 2| 2F1 v @ I e 2wy 1o
gug UvE. A 9IS ol 2l 59 uiieafa 4 B 9w e 20 for A gogol war 21 A T 13
fo 5 = i1 )

Fo I1:  afg 12 =afda oF & Fi 20 foF 9 gt = 81 36 & #6115 =t 16 o7 5 gof =)

I HY A 0, i g e e 3 9 gd s o = i

(1) =9 I3 [I5H 9a &

(2) w3 51 338 &

(3) = [EeA 7, Wi oA I 3780 2

(4) o I 38 7, S e [[E4 &

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=15993]
2[Option ID=15994]
3[Option ID=15995]
4[Option ID=15996]

Sl. No.25
QBID:1007275




Given below are two statements : One 1s labelled as Assertion A and the other i1s labelled as

Rea=zon R.

. . vy B
Assertion (A) : The probability that a leap vear has 53 Sundays 18 7

- - |
Reaszons (R) : The probability that a non-leap vear has 53 Sundays 1s =

In the lizht of the above statements. choose the most appropriate answer from the options
ziven below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) {A) 18 correct but (R) 1s not correct

(4) {A) 1= not correct but (R) 1= correct

(1)
(2)
(3)
(4)

A W N =

= ot o fou T § ;v st (Assertion (A)) % w9 # foifaa 2 & gEm 3@% FA0 (Reasons (R))
FETY :

s (A): T g =t ssrﬁaﬂzﬁrﬁmﬁw%%
A0 (R) wmaﬁiﬁﬁﬂﬁaﬁﬁﬁ?ﬁuﬁw%%q

IWIT FUE & A |, 4" 50 T EEed 3 O w58 3 @ =99 it
(1)  (A) @R (R)aFAt T&f & 311 (R), (A) =i °8 =3me 3

(2) (A 3 (R) gH1 T 2, S (R), (A) i |2 =awen 991 2

(3) (A=A B, @ (R) =8 74 2

(4) (A =E T 2, & (R) = 2

(1)
(2)
(3)
(4)

A W N =

1[Option ID=15997]
2[Option ID=15998]
3[Option ID=15999]
4[Option ID=16000]

Sl. No.26
QBID:1061001




The formula for calculating the discharge over a cipollett weilr 1s

()  @=0.0196 LH>" (2) Q=0.0186 LH"
3  Q@=00184 LH* (4) @=0.0184 LH™"

1)1
(2) 2
3) 3
(4) 4

(1) @=0.0196 LH** (2) @=0.0186 LH3?
(3) @=0.0184 LH** (4) @=0.0184 LH"?

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=14901]
2[Option ID=14902]

3[Option ID=14903]
4[Option ID=14904]

Sl. No.27
QBID:1061002

Base flow 1s also known as

(1) Sub-surface flow (2) Delayed flow
(3) Overland flow (4) Interflow

1) 1

(2) 2

3) 3

(4) 4

AR TaTE F 3 Y e T e 27

(1) =949z 9918 (2) TEeisE T=E
(3)  =HoET vEw (4) ¥ TEE
(1) 1

2) 2

3) 3

(4) 4

1[Option ID=14905]
2[Option ID=14906]
3[Option ID=14907]
4[Option ID=14908]

Sl. No.28
QBID:1061003

Capillary action is due to

(1) Cohesion only {2) Adhesion only
(3) Both cohesion and Adhesion {4) None of theze
1) 1

) 2




3) 3
(4) 4

b N T e Sp—— O

(1)  a=t ga=A (2) Hae HAEA
(3) T HESHE #HE SESA (4) =T ° FE TH
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=14909]
2[Option ID=14910]
3[Option ID=14911]
4[Option ID=14912]

Sl. No.29
QBID:1061004

The energy equations which take into account only the gravity forces and the pressure forces
are known as

(1) Euler's equations {(2) Bernoulli's equations

(3) Continuity equation (4) Darcy-Weishach equation

1) 1
(2) 2
(3) 3
(4) 4

(1)  Jo% T (2) =LA F1 T
(3) T = o (4) =wt T T
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=14913]
2[Option ID=14914]
3[Option ID=14915]
4[Option ID=14916]

Sl. No.30
QBID:1061005

The process 1= sald to be an 1zothermal process. when it takes place at

(1) Constant pressure (2) Constant volume

(3) Constant heat (4) Constant temperature
(1) 1

(2) 2

3) 3

(4) 4

aHaTdt T o B@E 2

(1) ferzm 2y for s

(3) Temam (4) &R qaEm




1) 1
(2) 2
3) 3
4) 4
1[Option ID=14917]
2[Option ID=14918]

3[Option ID=14919]
4[Option ID=14920]

Sl. No.31
QBID:1061006

A perfect gas 1s one which

(1) Follows gas law (2) Has no viscosity
(3) Is incompressible (4) None of these
(1) 1

2) 2

(3) 3
(4) 4

T H UF AR 19 97 = 2 A

(1) g Fam & oo 2 (2) vEHE T A

(3)  wmdiza 2 (4) = O FE H TH
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=14921]
2[Option ID=14922]
3[Option ID=14923]
4[Option ID=14924]

Sl. No.32
QBID:1061007

A cropis cut by :

(1} Slicing action only (2) Tearing actlon only
3 Shearing action only {(4) None of these
(1) 1
(2) 2

3) 3
(4) 4

(1)  =+a= 5 (2) e =
(3) A FA (4) =99 T FrE T

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=14925]
2[Option ID=14926]




3[Option ID=14927]
4[Option ID=14928]

Sl. No.33
QBID:1061008

The tilt angle varies from

(1) 42° to 45° (2) 15°to 25°
(3) 40° to 45° (4) 12°to15°

1) 1
2) 2
(3) 3
(4) 4

Afd I T afigad 1 75 T 2

(1) 42° 4 45° (2) 15°9 25°
(3) 40° 9 45° (4) 12°9 15°
(1) 1

(2) 2

3) 3
(4) 4

1[Option ID=14929]
2[Option ID=14930]
3[Option ID=14931]
4[Option ID=14932]

Sl. No.34
QBID:1061009

Angle between the centre line of the king pin of the tract or tractor the vertical line 1s called

(1) Caster angle (2) Camber angle

(3) Dizc angle (4) Tilt angle

(1) 1
(2) 2
3) 3
4) 4

FF RS F B T S HEE 1 s R R FEd 2

(1) =5 Fm (2) IeEl FO
(3)  T=mm wm (4) =fa Fm
(1) 1

(2) 2

3) 3

4) 4

1[Option ID=14933]
2[Option ID=14934]
3[Option ID=14935]
4[Option ID=14936]

Sl. No.35
QBID:1061010

In petrol engine. thermostat valve 1s fully open at
(1) 70° to 73°C (2) 88°+to90°C
(3) 87°C (4) 82°C




(1) 1
(2) 2
(3) 3
(4) 4

(1) 70°® 75°C (2) 88°H 90°C
(3) 87°C (4) 82°C

(1 1

(2) 2

3) 3
(4) 4

1[Option ID=14937]
2[Option ID=14938]
3[Option ID=14939]
4[Option ID=14940]

Sl. No.36
QBID:1061011

The commercial diesel fuels have cetane rating varying from

(1) 10 te 20 (2) 20to40
(3 30 to 60 4y 100

(1) 1

() 2

3) 3

(4) 4

T Tt Som | Hieq = ufEtdy 5t 2

(1) 104 20 (2) 20T 40
(3) 30" 60 4y 100
1)1

(2) 2

(3) 3

(4) 4

1[Option ID=14941]
2[Option ID=14942]
3[Option ID=14943]
4[Option ID=14944]

Sl. No.37
QBID:1061012

For most of the average tractor engines of four stroke cycle. the inlet valve opens about

(1) 5% after TDC (2)  5° before TDC
(3) a0° before TDC (4) 5° before BDC
(1) 1
(2) 2
3) 3

(4) 4




T A1 T 9W S0 9 292 99 % 09 O ged

(1) 5° TDC F =12

(3)  30°TDCH u=el
1 1

(2) 2

3) 3

4) 4

1[Option ID=14945]
2[Option ID=14946]

3[Option ID=14947]
4[Option ID=14948]

(2)
(4)

5° TDC § T2

5° BDC § 9=

Sl. No.38
QBID:1061013

Compression pressure of compression ignition engine varies from

(1) 35 to 45 kg/em? (2)  6to 10 kg/em?
(3) 32 to 38 kg/cm? (4) 2bto 32 kg/em?
1) 1
(2) 2
3) 3
4) 4
aiizd =9 T F AU @ o 9iEiEa 26 Al
(1) 359 45 foer /@ (2) 69 10 e /mdie
(3) 324 38 Toherr /a2 (4) 259 32 e [EHiz
(1) 1
) 2
3) 3
4) 4
1[Option ID=14949]
2[Option ID=14950]
3[Option ID=14951]
4[Option ID=14952]
Sl. No.39
QBID:1061014
Modified universal soil loss equation is
(1) Y=095(Q-gp)?*¥ K.LS.C.P. (2) ¥-=-15 REKLS.CP.
(3) Y=95(Q pg)?s6 K.IL.5.C.P. (4) v =95 REKLS.CP.
1) 1
) 2
3) 3
4) 4
(1) ¥Y=05(Q-gp)3 KL.S.C.P. (2 ¥=15REKLS.CP.
(3) Y=95(q pg)* KL.S.CP. 49 ¥Y=95REKLS.CP
(1) 1
(2) 2

3) 3




(4) 4

1[Option ID=14953]
2[Option ID=14954]
3[Option ID=14955]
4[Option ID=14956]

Sl. No.40
QBID:1061015

The force required for working of a machine i1z known as

(1) Breaking load only
(3) Power load only
(1) 1

(2) 2

3) 3

(4) 4

T3 = 9 FH AU =T g F q9i H

(1) g« 959 91
(3) g Wi HW

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=14957]
2[Option ID=14958]

3[Option ID=14959]
4[Option ID=14960]

(2) Working load only

(4) None of these

'}rn? %‘l
(2) Fad FEAH IR

(4) = o FE TH

Sl. No.41
QBID:1061016

A chain drive system needs

(1) An endless chain
3 An endless chain and a sprocket

1) 1
(2) 2
3) 3
(4) 4

e e 73 % e v 2|

(1)  oF ¥Fd 4@

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=14961]
2[Option ID=14962]

3[Option ID=14963]
4[Option ID=14964]

(2) A sprocket

(4)  Gears and pullevs

(2) U TESE UiEAl

Sl. No.42
QBID:1061017

of the machine




Tillage 1s classified into following

(1) Primary tillage only
(2) Secondary tillage only
(3 Both primary tillage and secondary tillage
(4) Minimum tillage
(1) 1
(2) 2
3) 3
4) 4

o N o % __er 3
I HHTTTEd H r_,11||=_‘_!—,{-| =

(1)  ae maf e

(2)  Hae TgaEs Far

(3)  =Fl Ut i fgdas T
4y e e

(1 1

2) 2

(3) 3

(4) 4

1[Option ID=14965]
2[Option ID=14966]
3[Option ID=14967]
4[Option ID=14968]

Sl. No.43
QBID:1061018

Mould Board (MB) plough 1= commonly used for
(2)
(4)

(1)
(3)
(1) 1
() 2
(3) 3
(4) 4

Primary tillage

Combined tillage

e e e e s e

(1) s 9 (2)
(3)  =AF I ey
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=14969]
2[Option ID=14970]
3[Option ID=14971]
4[Option ID=14972]

Secondary tillage

Minimum tillage

-}

Sl. No.44
QBID:1061019




It 1= a device used to cut the furrow slice vertically from the land ahead of the plough bottom

(1) Gauge wheel (2)  Furrow wheel
(3) Land wheel {4y Coulter

(1) 1

(2) 2

3) 3

4) 4

T o ¢ & 37 907 4 Y GEGE 9F 9 Fed #Ad 2

(1) T = (2) wEEE =%
(3) o= =w 4) ez

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=14973]
2[Option ID=14974]
3[Option ID=14975]
4[Option ID=14976]

Sl. No.45
QBID:1061020

Scientifically. which type of seed-drill is recommended for sowing of seeds

(1) Single box type (2}  Double box tvpe
(3) Three box type (4) Four box type
1) 1
) 2
(3) 3
4) 4
ATHF o 4, o= @ F o e wwr F s fow dwafaa w27
(1) el SiFE TR (2) TpE&E TER
(3)  Tmiwm wEE (4) =i TR
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=14977]
2[Option ID=14978]
3[Option ID=14979]
4[Option ID=14980]

Sl. No.46
QBID:1061021

The pneumatic planter works on which principle force?

(1) Gravitional (2) Suction
(3) GPS (4) Torque
(1) 1
(2) 2

3) 3




(4) 4

Tt T 93 T fog/ae W owE w27

(1) TR (2) =0

(3) GPS (4) S (2)
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=14981]
2[Option ID=14982]
3[Option ID=14983]
4[Option ID=14984]

Sl. No.47
QBID:1061022

Teeth or grooves of Ultra Low Volume sprayver (ULV) rotate at which RPM?

(1) 1000 — 3000 (2) 3000 -5000
(3) 4000 — 9000 (4) 10.000—15.000

1) 1
(2) 2
3) 3
(4) 4

5 #eq WA Fal (ULV) &1 /a1 91 @ fhad RPM 0% oo 27

(1) 1000 — 3000 (2) 3000 -5000
(3) 4000 — 9000 (4) 10.000—15.000

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=14985]
2[Option ID=14986]

3[Option ID=14987]
4[Option ID=14988]

Sl. No.48
QBID:1061023

What should be in a straight line for correct functioning of cutler bar of a mower?

(1) Crank pin only (2) Enife head only
(3) The outer end of the knife only (4) All of these
1)1

(2) 2

3) 3

4) 4

UF SEF (HIFE) F FATE F GA 0 F [0 S S § 9 w5 = ¢

(1)  =ae s (2) =Fael 9T # W
(3) e =TE I S fEm (4) T T4
(1) 1

2) 2




3) 3
(4) 4

1[Option ID=14989]
2[Option ID=14990]
3[Option ID=14991]
4[Option ID=14992]

Sl. No.49
QBID:1061024

An average man can develop maximum power of about

(1) 0.1 hp (2) 0.2 hp
(3 0.3 hp (49 04 hp

1)1
(2) 2
3) 3
(4) 4

(1) 0.1 hp (2) 0.2 hp
(3) 0.3 hp (4) 04 hp
(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=14993]

2[Option ID=14994]

3[Option ID=14995]
4[Option ID=14996]

Sl. No.50
QBID:1061025

What 1s the global ranking of India in wind power generation
(1) First (2)  Second
(3) Fourth {4y Tenth

(1) 1

2) 2

3) 3
(4) 4

a1 Wi 300 F 4 HEd T dfvas gl w27

(1) w9y (2) fgdm
(3 =4 4) ol
(1) 1
2) 2
(3) 3
(4) 4

1[Option ID=14997]
2[Option ID=14998]
3[Option ID=14999]
4[Option ID=15000]

Sl. No.51
QBID:1061026




Which one 1s the major source of power for the amall farms?

(1)
(3)
(1) 1
(2) 2
(3) 3
4) 4

i

Tractor {(2) Human
Animal (4) Solar

(1)
(3
(1) 1
2) 2
3) 3
(4) 4

ED i (2)

kS

% 4

EICED (4)

1[Option ID=15001]
2[Option ID=15002]
3[Option ID=15003]
4[Option ID=15004]

Sl. No.52

QBID:1061027

Thermal diffusivity is used to determine

(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

Heat transfer rates in semi-solid agricultural produce
Heat transfer rates in liguid agricultural produce
Heat transfer rates in solid agricultural produce

Heat and mass transfer rates of any item

AT e 1 e YA % e Sume e S E R

(1)
(2)
(3)
(4)

(1) 1
) 2
3) 3
(4) 4

g 3ME FY IONE § T FHA

=

%A P IeUE H T A

3 FEF 3% T FEI W

1[Option ID=15005]
2[Option ID=15006]
3[Option ID=15007]
4[Option ID=15008]

Sl. No.53

QBID:1061028




A soil sample 1s having a porosity of 30 per cent. then the void ratio of the soil will be

(1)
(3)

(1)
(2)
(3)
(4)

A W N =

0.329 (2) 0420
0.529 (4) 0.629

o 921 = g i waar 30% 2, 99 w0 6 il s = e

(1)

(3)
(1)
(2)
(3)
(4)

A W N =

0.329 (2) 0.429
0.529 (4) 0.629

1[Option ID=15009]
2[Option ID=15010]
3[Option ID=15011]
4[Option ID=15012]

Sl. No.54

QBID:1061029

Length of each link in a Gunter's chain 1s

(1)

(3)
(1)
(2)
(3)
4)

A W N =

(1)
(3)
(1)
(2)
3)
(4)

A W N =

133 £ (2) 10t
0.66 ft (4) 0.33ft

JEeT § TedF o7k i T 2
1.33ft 2 10ft
0.66 ft 4y 0.33ft

1[Option ID=15013]
2[Option ID=15014]
3[Option ID=15015]
4[Option ID=15016]

Sl. No.55

QBID:1061030

For a most economical trapezoidal channel section: having side slope 1.5: 1

(1)
(2)
(3)
(4)

(1) 1

Hyvdraulic mean radius equals the depth of flow
Hydraulic mean radius equals half the depth of flow
Bottom width 1= twice the depth of flow

Bottom width is half the depth of flow




2) 2
3) 3
(4) 4

s JT{?I HHC"i'-'vihl A (".'...l-l':v‘l} @—5 |r.‘51J‘.{—41':\| "”-.‘Ci o 1.5 1?’_:. ?F-I'E[ .
(1) /™ =1 == uams =i TEE e 2|
(2) @ T T TEmE T # S R
(3)  aToEae 1 g WA il TEE H A 2

(4) e i =9rEE TEE F T 9 o 2

-~
W
Nt
A W N =

(4)

1[Option ID=15017]
2[Option ID=15018]
3[Option ID=15019]
4[Option ID=15020]

Sl. No.56
QBID:1061031

The Muskingum method of flood routing assumes the storage S in a channel reach is related
to inflow rate I and outflow rate @ as:

(1) Eld -(1-x)Q] (2) E[xQ +(1-x)I]

(3 K[l +(1-x)Q] (4) E[1-(1-x)Q]

(1)
(2)
3)
(4)

A W N =

e JE fHuner & "fewts Gty § "@uEn 8 %1 "wey (399 H) HAequaE o [ S a@m vEE w Q °
T 2|

(1) Kl«I -1 -x)Q] (2) K[xQ +(1-x)I]

(3) Klad +(1-x)Q] 4 E[1-(0-=x)Q]

(1)
(2)
(3)
(4)

A W N =

1[Option ID=15021]
2[Option ID=15022]
3[Option ID=15023]
4[Option ID=15024]

Sl. No.57
QBID:1061032

The comhbined discharee of two pumps operating in paralled for a specific head 1s equal to

(1) Sum of individual discharges
(2) Individual discharge
(3) Square of sum of individual discharges

(4) Cube of sum of individual discharges




(1) 1
(2) 2
3) 3
(4) 4

TH T % 51 9N % G (e e o % e e s 2
(1)  vFrEh f5usT F = % wen

(2) R T
4y  vErEE EEEE F A wm

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15025]
2[Option ID=15026]

3[Option ID=15027]
4[Option ID=15028]

Sl. No.58
QBID:1061033

Foot valve 1s fitted at

(1} Junection of delivery pipe and pump body
(2) Junction of suction pipe and pump body
(3) End of suction pipe

(4) End of delivery pipe

1) 1

) 2

3) 3

4) 4

(1) ™ ey n 9 i Jg W (2) ST IET AR ey Ay Al W
(38) TUETE AAH (4 FFmam=T s

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15029]
2[Option ID=15030]

3[Option ID=15031]
4[Option ID=15032]

Sl. No.59
QBID:1061034

If the specific yield of the sand is 10 percent and 1ts porosity 1s 28 percent then its specific
retention will be

(1) 18 percent (2) 28 percent
(3) 38 percent (4) 48 percent

1) 1




2) 2
3) 3
(4) 4

921 i T =g 10% 7 5l 9y 28% & o9 6 [@iEE guen GEa) = w2

(1) 18 iaed (2) 20 "fdwE
(3) 38 AT (4) 48 vfFmm
(1) 1
(2) 2
3) 3
4) 4

1[Option ID=15033]
2[Option ID=15034]
3[Option ID=15035]
4[Option ID=15036]

Sl. No.60
QBID:1061035

In Thels type curve method. the aguifier properties of a confined aguifier are determined by
selecting a match point on over lapping portion of plot of

(1) s versus r /¢ and Thels type curve wiu) Versus 1/u

(2) s versus ¢ /r and Thels type curve w (u) versus u

(3 s versus t/r° and Thels type curve w () Versus 1i/u
(4) 1/s versus t/r° and Thels type curve w () Versus 1/«
1) 1

(2) 2

3) 3

4) 4

oA o3 H, Tfwg Ferga F Ferqgd TEE T F T 99 T e g #6 =9e g fatia & 9 2

(1)  sTNUSA /¢ AR =S 229 qF w(w) TUH 1/u
(2) STUH ¢/r ﬁﬁﬁwm%w{u} T u
(3)  sEMA /7 FR AT TR F1 T w(u) TUT 1/u
(4)  1/s "YU t/r° S S 25T Toh ow(u) HHH 1/u

1) 1
(2) 2
3) 3
4) 4
1[Option ID=15037]
2[Option ID=15038]

3[Option ID=15039]
4[Option ID=15040]

Sl. No.61
QBID:1061036

A localized water body above the water table In an unconfined aquifier 1s known as

(1) Confined aquifier (2) Perched aguifier
3 Unconfined aguifier (4) Artesian aquifier




1)1
(2) 2
3) 3
(4) 4

Wmﬁmq?ﬁﬁwqﬁwwmﬁ?wmﬁmﬁ = E7

(1) TREg S (2) zfom seE
(3)  smfEg Jegd (4) = FEga
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=15041]
2[Option ID=15042]
3[Option ID=15043]
4[Option ID=15044]

Sl. No.62
QBID:1061037

The major error in chain surveving is caused by

(1) Miscounting of arrows deviating from straight lines only
(2) Sag in tape or chain only
(3) Inaccuracies in measuring instruments only

(4) None of these
(1) 1
(2) 2
(3) 3
(4) 4

el T H TR 1 g I w2 7

(1)  =haet =it oA o FfE=er 1o -ToE
(2)  FHaw 29 o1 509 | 7

(3) A ST HIH § 3G

(4 T " FE T

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=15045]
2[Option ID=15046]
3[Option ID=15047]
4[Option ID=15048]

Sl. No.63
QBID:1061038




The depth in centimetres of water drained off from a given area in 24 hours. is called the

(1) Drainage design rate only

(2) Drainage coefficient only

(3) Both drainage design rate and drainage coefficient
4 None of these

(1) 1

(2) 2

3) 3

4) 4

24 T2 1 T3 T & F U FE i Tes I 6 R 9 W wad w

(1) e e #i sAtasee o

(2)  Hae AUEE 9 T

(3)  THI, AYETE 99 ATFHET 5 R A9EE 96 T
(4) 3 G i A=

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=15049]
2[Option ID=15050]
3[Option ID=15051]
4[Option ID=15052]

Sl. No.64
QBID:1061039

When the soil is at an elastic equilibrium. the ratio of horizontal to vertical stress iz called the

(1) Coefficient of earth pressure of rest (2) Active earth pressure

(3) Passive earth pressure {4y Vertical pressure

(1)
(2)
(3)
(4)

A W N =

S Tagt vy TrEaE 1§ 2 A dfas H{i Feater 99 S S 6w wad 2

(1)  Tawm = geft g/ =1 o (2) @A g w1 7w
(3) T o A (4) et TE

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=15053]
2[Option ID=15054]
3[Option ID=15055]
4[Option ID=15056]

Sl. No.65
QBID:1061040




Water that moves freely in response to gravity and drains out of the soil in called

(1) Hygroscopic water only (2) Capillary water only
(3) Gravitational water only (4) None of these

1) 1

(2) 2

(3) 3

4) 4

Teed =1 M1 % O, TAA B H §E dlel WeA, W9 9e1 § eRiEa 2 2, 91 =0 Fad 2|

(1) == HA5al a9 = (2) = HEEHE =
(3)  FEE AT A (4) =W ° =5 A
1 1

2) 2

(3) 3

(4) 4

1[Option ID=15057]
2[Option ID=15058]
3[Option ID=15059]
4[Option ID=15060]

Sl. No.66
QBID:1061041

Given below are two statements : One 1s labelled as Assertion A and the other is labelled as
Reas=on R.

Assertion (A):  Accelerated erosion is in excess of geologic erosion.

Reaszon (R) : Accelerated erosion 1s activated by natural and man's activities

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (4)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)

(3) (A) 1= correct but (R) 1s not correct
(4) (A) 18 not correct but (R) 1s correct
(1) 1
(2) 2
(3) 3

(4) 4




i @ wom Ry Ty § : uw sfiweud (Assertion (A) ¥ w9 6 fafew & @ gmw swE s
(Reason (R)) % &9 # :

AR (A) i S qEmE oA i sifuwa 7 # 2
o (R) : =i e WEGH H A= SR @ afnT T 2

ITUE FIA & S 4, 99 Gy et § @ g9 I I w0 9wy

(3)
(4)
1)1
(2) 2
3) 3
(4) 4

(A) 3ftt (R) 21 @@ £ st (R), (A) 1 =) = &

(A) 37 (R) 71 &6 &, S (R), (A) Fi |6t = 96 &
(A) |E 2, 9% (R) &6 781 &

(A) =&l 7E 2, 6 (R) w8 &

1[Option ID=15061]
2[Option ID=15062]
3[Option ID=15063]
4[Option ID=15064]

Sl. No.67

QBID:1061042

Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as

Reaszon R.

Assertion (A) : A layer of gum between cotvledones and husk is present in most of the
pulses

Reasons (R) : That 1z why. the conditioning is used to loosen the husk to facilitate its

seperation from the cotyledones

In the light of the above statements. choose the most appropriate answer from the optlons
given below :

(1)
(2)
(3)
(4)
1)
(2)
(3)
(4)

A W N =

Both (A) and (R) are correct and (R) is the correct explanation of (A)
Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(A) 1s correct but (R) 1s not correct

(A) 1s not correct but (R) 1s correct




A1 71 oA faw o § : uF sAfeem (Assertion (A) % %9 # faflad 8 a1 750 39% w0 (Reasons (R))
HETH

sfireReA (A) siferram grei # st iR st it A = = g A v IufeE B g
1 (R) : gafer st #t 35 o & g sem w9 i fEufa swEm i ot 2

IR FG & A #, 79 Fu o e § 3 99w 35w 3w W 9. i

1)
(2)
(3)
(4)

A W N =

(A) 3R (R) 31 = § #it (R), (A) 1 =8t =re §

(A) 3R (R) 3F1 &1 &, T (R), (A) Ft adi = 46 2
(A) =@l 2, TfF (R) &8t =1 2

(A) =@l 74 &, dfF (R) &t 2

1[Option ID=15065]
2[Option ID=15066]
3[Option ID=15067]
4[Option ID=15068]

Sl. No.68

QBID:1061043

Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as

Reason R.

Assertion (A) : Parabolic curve 1= obtained when infiltration and time data are plotted on
an crdinary graph paper

Reason (R) : Linear relationship is obtained when infiltration and time data are plotted

on a log-log paper

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1)
(2)
(3)
(4)
(1)
(2)
(3)
(4)

A W N =

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
Both (A) and (R) are correct but (R) 18 NOT the correct explanation of (A)
{A) 18 correct but (R) 1s not correct

{A) 1s not correct but (R) 1s correct




A= 71w fou o ¥ : v SAfua (Assertion (A) ¥ ¥9 W fafiaa 2 91 250 3% FRO (Reason (R))

FETH

s (A) THEIRE I3 T8 WIH Bia] & 96 #Ha:508] N G99 S & T Hihne 976 U 7
HTeAad T =ar 2

1 (R) : T A N T WS g @Y (A-a0) TR W Ao 6 8 a1 e

Hay g1 A6l 2

IFIF F9A & A #, 59 By fFwed § 3 79w 3w 3w W 9. i

(1)
(2)
(3)
(4)

A W N =

(A) 3iT (R) 241 &1 € 3R (R), (A) 1 @@t =men &

(A) 3R (R) 3F1 &l &, S (R), (A) i adt = 4 2
(A) wd 8, A (R) 961 761 ®

(A) =t 7 2, dfF (R) =t 2

1[Option ID=15069]
2[Option ID=15070]
3[Option ID=15071]
4[Option ID=15072]

Sl. No.69

QBID:1061044

Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reazon R.

Assertion (A):  Theis obtained the solution for the determination of aquifer properties
under unsteady state flow condition

Reason (R) : Theis obtained the solution based on the analogy between ground water

flow and heat conduction

In the lizht of the above statements. choose the most appropriate answer from the optlons
given below :

(1
(2)
(3)
4)
(1)
(2)
(3)
(4)

A W N =

Both (A) and (R) are correct and (R) is the correct explanation of (A)
Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(A) 13 correct but (R) 1s not correct

{A) 13 not correct but (R) 1s correct




i 2 #om gy § : uF wHfud (Assertion (A)) % ®9 # ffaa @ @ g80 39% #0001 (Reason (R))
%ﬁqﬁ

oA (A) oftg 7 sifen s yar fEfs & Soye e & et = fon s g

1 (R) : ofim & qfirm o= waE S 9 Sewar & St9 gEeH 9y % AR W aEEe @l

IFIE FGH F AEAF A, 59 By Fwed § 3 998 35y 3w W wwm i

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

A W N =

(A) 3R (R) 2 w8 § 3t (R), (A) 1 =t =men §

(A) 3R (R) 3F1 &1 &, T (R), (A) Ft adi = 76 2
(A) =@l 7, afFa (R) &8t 71 B

(A) =t T 2, fF (R) &t 2

1[Option ID=15073]
2[Option ID=15074]
3[Option ID=15075]
4[Option ID=15076]

Sl. No.70

QBID:1061045

Given below are two statements : One 12 labelled as Assertion A and the other 1s labelled as

Reason R.
Assertion (A):  Various methods are emploved for extraction of oil from the oilseeds.
Reaszon (R) : The oil extraction process falls under unit operation of milling.

In the light of the above statements. choose the correct answer from the options given below :

(1)
(2)
(3)
(4)
(1)
(2)
(3)
(4)

A W N =

Both (A) and (R) are true and (R) 1s the correct explanation of (4)
Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(A) 1s true but (R) 1s false

(A) 1s false but (R) 1s true




Ao

H= o FeA fou T #  vF AWFeA (Assertion (A)) F ¥9 ¥ fofga ® @1 g 35F FW0 (Reason (R))

FETY :

AlaF (A) - foeter 5 a1 % Towm % foro fafva fatasn e 6 = 2

A0 (R) T F THE T S del AR T Al 2

I FU F AE G, A 5 T fTwedt 8§ G99 39T 3 1 =94 shian

(4)

A W N =

(@ e (&) 3 A # 5h R, @ i o v 2

(A) 311 (R) M1 =& 7, =i (R), (A) Fi T8 =awe T2 &
(A) TA 2, AP R) 7 TH 2

(&) W T %, WA (R) w2

1[Option ID=15077]
2[Option ID=15078]
3[Option ID=15079]
4[Option ID=15080]

Sl. No.71

QBID:1061046

Given below are two statements : One 1s labelled as Assertion A and the other is labelled as

Eeason R.

Assertion (4):  Terracing is an engineering soll conservation practice, used to control the
zo1l erosion in highly sloped areas.

Reasonz (R) : Terracing involves the constructon of enhancement or ridge and steps like

structure. across the land slope to check the flow of surface runoff and to
reduce the soil loss

In the light of the above statements. choose the correct answer from the options given helow :

(1)
(2)
(3)
(4)
(1)
(2)
(3)
(4)

A W N =

Both (A) and (R) are true and (R) is the correct explanation of (4A)
Both (A) and (R) are true but (R) 1s NOT the correct explanation of (4)
{(A) 13 true but (R) is false

{A) 1s false but (R) 1s true




= 1 F9A U M E : uF At (Assertion (A)) F FU ¥ fofigd 7 91 551 39 FAW (Reasons (R))
FEOY :

ATFA (A) T =T A1 & H R S F T 1 AGEE S 0E e T ()
T ITAM T A R

F1 (R) AT FEAY 7R T TEAT oR, 9 R 7 O o] WS W, 3= a9 § gad

I FU F AE G, A 50 T Gl 8§ H99 39 3 1 =94 shian

(1) (A) 3R (R) 2F1 T8 # 37 (R). (A) i T8 =m=n 2
@) (A) ¥R (R)2F T8 3, 5 (R). (A) B T8 =men 74 2
(3) (AT 2, @ (R) w7 2
@ (A TE A 2, 7 (R) TE 2

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=15081]
2[Option ID=15082]
3[Option ID=15083]
4[Option ID=15084]

Sl. No.72
QBID:1061047

Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reazon R.

Assertion (4) :  The desorption EMC values are higher than the adsorption EMC values

Eeaszons (R) : The difference between desorption and adsorption curves 1s known as
“Hysteresis effect”

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3 (A) 13 true but (R) is false

(4) (A) 1s false but (R) 1s true

1) 1
(2) 2
3) 3
(4) 4




= 71 o= fa o # ;v st (Assertion (A)) % ¥9 # fofiam 2 a1 790 39% FA01 (Reasons (R))
FEIH :

FfiEReEE (A) | Taimor EMC &+ siftrgignr EMC 94 & <9141 841 21
%I (R) - Tt &t sl =% & = Tiear =0 eeiiie s9E w8 21

IR FH F AErF 5, G e o et § 8 od 3w w1 9w i

(1) 1
(2) 2
3) 3
(4) 4

(A) 3 (R) 2 &0 € 3R (R), (A) 1 98t =men 2

(A) 3T (R) 3F1 & &, SfF (R), (A) 1 &l =amen 7l 2
(A) @ 2, o (R) 3@ &

(A) =15 2, 9ifF (R) 59 2

1[Option ID=15085]
2[Option ID=15086]
3[Option ID=15087]
4[Option ID=15088]

Sl. No.73

QBID:1061048

Set the order of “Class of slope” from lower to higher range of land slope

(A)
(B)
{C)
(D)

(E)

Steep zlope
(zentle zlope
Moderate slope
Strong slope

Very strong slope

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

1) 1
(2) 2
3) 3
(4) 4

(B). (C). (D). (E). (&)
(B). (D). (E). (C). (&)
(C). (D). (E). (A). (B)

(C). (E). (D). (A). (B)




@1 o 11 1 H S @Td & =1 § 3= %6 | Fafeda St

(A) gl grel

(B) wwEa

(C) w=fem =
(D) gmE=E

(E) =%a it o

q‘ﬁéﬁqwﬁwﬁﬁﬁ@wwaﬁﬁu:
(1) (B), (C), (D). (E), (&)
(2) (B), (D), (E), (C), (&)
(3) (C), (D), (E). (A), (B)
(4) (C), (E), (D), (A), (B)
(1)
(2)

(3)
(4)

A W N =

1[Option ID=15089]
2[Option ID=15090]
3[Option ID=15091]
4[Option ID=15092]

Sl. No.74
QBID:1061049

Name and order of hydraulic jump occuring bazed on numerical value of Froude number (F)
1n ascending order

(A) Undular jump

(B) Wealk jump

(C) Oscillating jump

(D) Strong jump

(E) Steady jump

Choose the correct answer from the options given below :

(1) (C). (D). (E). (A). (B)
(2) (A). (C). (B). (E). (D)
(3) (A). (B). (C). (E), (D)
(4) (C). (E). (A). (D). (B)

1 1
2) 2
(3) 3




(4) 4

FI3S TEA F TEATHF AH T TG S9=tca 507 F1 T1 3717 590 H1 951 537 50 2|

{:‘_‘.) S s T 39l

4 £ 2

(B) =&« (FH) @1

(C) F:t_"llqu - FET

(D) wEd (F=mE) 33T

(E) o e

4= 15U U oo 0 1 wE 39 0 999 I

(1) (C). (D). (E). (A). (B)
(2) {(A). (C). (B). (E). (D)
{3) (A). (B). (C). (E). (D)

(4) (C). (E). (A). (D). (B)

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=15093]
2[Option ID=15094]

3[Option ID=15095]
4[Option ID=15096]

Sl. No.75
QBID:1061050

Arrange the steps of water movement in a hydrologic cycle as :

(A) Precipitation

(B) Evaporation

() Condensation

(D) Runoff and ground water flow

(E) Ocean

Choose the correct answer from the options given below :

(1) (B). (C). (A). (D). (E)
(2) (4. (B). (C). (D). (E)
(3) (E). (A). (D). (B). (C)
(4) (D). (A). (B). (E). (©)

1) 1




2) 2
3) 3
(4) 4

el 6 (FESIEE ) § el 1 Haer H Wel %9 qarsd|

(A)  wFEET
(B) =T
(C) T

(D)  =&aT 530 ¥R qAE S TEE

(E) HeTqr

i fou v oot | ° TE1 3 1 999 FiEw

(1) (B). (C). (A), (D), (E)
(2) (A). (B). (C), (D). (E)
(3 (E). (A). (D). (B). (C)

(4) (D). (A). (B). (E). (C)

1) 1
(2) 2
3) 3
4) 4
1[Option ID=15097]
2[Option ID=15098]

3[Option ID=15099]
4[Option ID=15100]

Sl. No.76
QBID:1061051




Steps involved 1n land levelling design by “Plane Method” are

(A) Determination of the centroid of the field
(B) Determine the average elevation of the field
(C) Compute the slope of the plane of best fit
(D) Compute the formation levels. cuts and fills

(E) Determine the cut-fill ratio

Choose the correct answer from the options given below :

(1) (E). (B). (A4). (C). (D)
(2) (D). (E). (B). (C). (A)
(3) (C). (E). (D). (B). (&)
(4) (A). (B). (C). (D). (E)

1)
(2)
(3)
(4)

A W N =

oA faty grr gEEae WY | winiee ug 2|
@) w0 o 5 Flor

(B) HF &9 % HEa 3= F

(C)  =Ha= = T2 T 1 Giehe

(D) T =, FEE ST 9w g

(E) a9 : W0 ST F1 HEEm

4= fou T el ® @ HWE 39 0 =9 R

(1) (E), (B). (A). (C). (D)
(2) (D). (E). (B). (C). (A)
(3) (). (E). (D). (B). (&)

(4) (A). (B). (C). (D). (E)

-~
W
N
A W N =

1[Option ID=15101]
2[Option ID=15102]




3[Option ID=15103]
4[Option ID=15104]

Sl. No.77
QBID:1061052

Capacity of a open channel is calculated as :

(A) Wetted perimeter
(B) Hydraulic slope

(C) Avyea of cross-section
(D) Mean velocity of flow

(E) Hydraulic radius

Choose the correct answer from the options given helow :

(1) (A). (C). (E). (B). (D)
(2) (D). (E). (A). (C). (B)
(3) (B). (D). (E). (A). (C)
(4) (C). (B). (&), (D). (E)

(1)
(2)
(3)
(4)

gl Femr 1wt i T R e A 9 2

A W N =

(A)  enfzA iy

(B)  geE=icTd @iet

(C) e *1E &1 Sawe
(D)  waEE %= FEa

(E)  ga=niera ==

qﬁéﬁqmﬁw"ﬁﬁ@mmaﬁrﬁq:
(1) (A), (O), (E), (B), ()
(2) (D). (E). (A). (C), (B)
(3) (B). (D). (E). (4). (C)
(4) (C), (B), (A), (D). (E)

(1)
(2)
(3)
(4)

A W N =

1[Option ID=15105]
2[Option ID=15106]




3[Option ID=15107]
4[Option ID=15108]

Sl. No.78

QBID:1061053

Steps 1nvolved 1n a combine harvester during operation in the field

(A)
(B)
(C)
(D)

(E)

Threshing the crops

Cleaning the grain from mixture of grain and straw
Collecting the grains In storage contalner

Cutting the standing crops

Feeding the cut erop to threshing unit

Choose the correct answer from the options given below :

(1
(2)
(3)
4

(1)
(2)
(3)
(4)

A W N =

(D). (A). (B). (E). (C)
(D). (E). (A). (B). (C)
(D). (B). (A). (E). (C)

(D). (C). (E). (B). (A)

Tt & o, HE T A SatT Fe A

(A)  HES G
(B) 99 FE S F U0 H AT A w
(C) T il HU=T SFH H TS FAl
(D) @I () FESA AT
(E) W 73iE 5 2 55 A F A
4= oo v fawed § | "9 39 w0 =51 S
(1) (D). (A). (B). (E). (O)
(2) (D). (E). (&), (B). (C)
(3) (D). (B). (A). (E). (©)
(4) (D). (C). (E). (B). (A)
1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=15109]
2[Option ID=15110]
3[Option ID=15111]
4[Option ID=15112]

Sl. No.79
QBID:1061054

Unit operations involved in rice bran oil production are:

(A) Solvent extraction
(B) Filtration

(C) Rice bran

(D) Crude bran o1l

(E) Steam cooking and drying

Choose the correct answer from the options given below :

(1) (C). (E). (A). (B) and (D)
(2) (C). (B). (A). (E). and (D)
(3 (C). (A). (E). (B) and (D)

(4) (C). (D). (A). (E). and (B)

(1) 1
(2) 2
3) 3
(4) 4

A FH 9 3095 4 TR TEEE A 2

.[A] ﬂf—u-]jj—_rr;. .a.‘-h-(;mr
B e
(C) EICERIE

(D) == 9H a9

(E) W9 | THET 1 gEe

= fou Tu TR B H HWA 39 R =9 R

(1)  (C). (E). (A), (B) 3t (D)
(2)  (C). (B). (A). (E) 37t (D)
(3) (C). (A), (E), (B) 3R (D)

(4) (C). (D). (A). (E) it (B)
(1) 1




(2) 2
3) 3
4) 4
1[Option ID=15113]
2[Option ID=15114]

3[Option ID=15115]
4[Option ID=15116]

Sl. No.80
QBID:1061055

Given helow are two statements :

Statement I : The compressive strength of cement at the end of 3 days should not be less
than 11.5 N/mm?

Statement IT : Tensile strength of cement at the end of 3 days should not he less than

2 N/mm?2

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement IT are correct
(2) Both Statement I and Statement IT are incorrect
(3) Statement I 1= correct but Statement IT is incorrect
(4) Statement I is incorrect but Statement II 1s correct
(1) 1
(2) 2
3) 3
4) 4

49 71 FU fgu U E

T2 1 3 29 = =g fom=2 i godfiz® 9wz 11.5 N/mm?2 § %59 981 2F1 =1ey]

F I1: 3 o % =g famez =i &9 9@t 2 N/mm? & %8 781 261 =1ie)

IHRE F2F F A §, A9 5 T GEed § 9 geE 39 S5 6 99 HE

(1)  =o[ L3R [ 5AT 948 &

(2) A 3R IS 7Ted 7

(3)  =ua IHdl 2, Wi % 117 7
(4) w2 17eE 2, =k %o ILEE 2
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=15117]
2[Option ID=15118]
3[Option ID=15119]
4[Option ID=15120]

Sl. No.81
QBID:1061056




Given below are two statements : One 1s labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A) : In buffer strip cropping, strips of grasses or legume crops are laid between
contour strip crops in regular rotation.

Reason (R) : In wind strip cropping system. the strip crops of uniform width never laid

at right angles to the direction of prevailing winds with regard of the
contour.

In the light of the above statements. choose the correct answer from the options given below :

(1
(2)
(3)
4)
(1)
(2)
(3)
(4)

-

A W N =

Both (A) and (R) are true and (R} is the correct explanation of (A)
Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(A) 1s true but (R) 1s false

(A) 18 falze but (R) 1s true

I= =1 wum fou o v st { Aszertion (A)) F =9 1 fongs # a AL 35F F0 (Reason (R))

FEIH

AR (A): R S FEERE |, wel FEE A oaE fi gl el g J e aen e
ftea 2

F (R) : a9 Ig GETHIGa 99 |, TEEd 9ieE F g IEE g $ g & g1y S5 99

%1 fom =+ 5@ Fm1 1 FiEd T8 w6 2

IWRE FUF F AEE §, A9 50 T FEed § § 69h 399 I F =99 i

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

A W N =

(A) R (R) 5HT T8t 3 370 (R), (A) Fi °& == 2

(A) ¥ (R) 7F1 74 2, =53 (R), (A) F w7 =z 74 2
(A) T 2, wifF (R) Oa 6 2

(A) &t 31 2, 9t (R) 971 2

1[Option ID=15121]
2[Option ID=15122]
3[Option ID=15123]
4[Option ID=15124]

Sl. No.82

QBID:1061057




Given below are two statements :

Statement I: Elz index method for computing the erosivity. was not introduced by

Wischemeir (1965)

Statement II : The rainfall erosivity is not related to the kinetic energy of rainfall

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

A W N =

Both Statement I and Statement IT are correct
Both Statement I and Statement II are incorrect
Statement I is correct but Statement II is incorrect

Statement I 1s incorrect but Statement IT 1s correct

4= 71 Fe B o E

E e

ATEAAT % Uhe # fom g wet fafu, e (1965) gr1 weaa T8 # T o

Fo I :  STET O S S TS S 9 geiean T8 2

SHIE FYA F A H, A9 50 T GEe § 8 w30 I F =99 A
(1) = IR 5 a4 2

(2) = [ oM 7o &

(3)  wF LHE 2, wiid #ud 1L Ted 2

(4)  FE 17ed 2, ot e I a2

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=15125]
2[Option ID=15126]
3[Option ID=15127]
4[Option ID=15128]

Sl. No.83

QBID:1061058




Given below are two statements :

Statement I : A processing job consists of a series of “Unit operations”.

Statement IT : Processing operations are undertaken to add value to agricultural produce.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement II are correct
{(2) Both Statement I and Statement IT are incorrect
(3) Statement I 1= correct but Statement II 1s incorrect
(4) Statement I 1s incorrect but Statement II is correct
1) 1
2) 2
3) 3
(4) 4
= 7 weE Ry o

wad [ U GEIYA S, 39S U=OH i gEe § gEae d gl 2l
Fo I1:  ©Enwa &F §8 399 & geq § 7699 % fo s 2)

3T F9F F S #, 4= By Gwed § 9 ge 399w 3w 99 it

(1) e 1 iR I 591 o4t 8
(2) A 1 i L1 2HT e &
(3)  wud =g &, e wga [ e 8
(4)  F 1 7eE &, o we [T 8

(1)1
(2) 2
3) 3
(4) 4

1[Option ID=15129]
2[Option ID=15130]
3[Option ID=15131]
4[Option ID=15132]

Sl. No.84
QBID:1061059

Given below are two statements :
Statement I: A confined acquifer is found between impremeable layvers above and below it.

Statement II: Perched water table 1s a special case of an unconfined acquifer.
In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3 Statement I 1s true but Statement I 1s false

(4) Statement I i1s false but Statement IT 1s true




(1)
(2)
(3)
(4)

A W N =

= 71 #om fgw o #

F9 1

UF Hiiod FTyd AUCT TaE F SR 3 A F of=, § o S 2

FA I1: 5w o9 2= oF wwifna soga =1 fafe smmm 2

S FUA F A °, 49 50 T e 3 | HeE 30 39 H =6 R

(1)
(2)
(3)
(4)
(1)
(2)

(3)
(4)

A W N =

o I 3 I a9 7
o4 1 3 I 5T Terd 2
o4 L HA 2, we e 17 2

Fy4 [71erd 7, et e [LaE 2

1[Option ID=15133]
2[Option ID=15134]
3[Option ID=15135]
4[Option ID=15136]

Sl. No.85

QBID:1061060

Given below are two statements ;

Statement I : The temperature produced on the power stroke of an engine can be as high
as 1600°C.
Statement IT : The main purpose of cooling 15 to maintain optimum temperature of an

Engine for efficient operation under all conditions

In the light of the above statements. choose the correct answer from the options given helow :

(1)
(2)
(3)
4

(1)
(2)
(3)
(4)

A W N =

Both Statement I and Statement II are true
Both Statement I and Statement II are false
Statement I 1s true but Statement IT 1= false

Statement I 1s false but Statement IT 1s true




=g Fe fpm

FA1: T % I SATHE 9 SgEan aaaE 1600°C 7 o9 £

Fo I1: G %1 919 3599 39 1 S8a9 999H s w5 A1 a1 fFald g g% wam & oo 2

I FU F AEE 4, 44 5 T fGwen § 9 g9g 39 39 H =g Hia

(1)  =%A I3 [ SH o9 7

(2) = AR IS e 2

(3) = I9d 2, o %o I 7ed 2
(4) T 17 2, @it #o [ 98 2
(1) 1

2) 2

(3) 3

4) 4

1[Option ID=15137]

2[Option ID=15138]

3[Option ID=15139]
4[Option ID=15140]

Sl. No.86
QBID:1061061

Given below are two statements ;

Statement I : Sprinkler irrigation is not suitable in verv fine textured soils. where the
infiltration rates are less then about 4 mm per hour.

Statement IT : Perforated pipe type sprinkler system is usually designed for low operating
pressures of abhout 0.5 to 2.5 kg/em?,

In the light of the above statements. choose the correct answer from the options given helow :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement IT are false
(3) Statement I 1s true but Statement II 1= false
(4) Statement I 1s false but Statement II is true

(1) 1

2) 2

3) 3

(4) 4




9 71 FeM T T E

HYF 1: FEMl HaE s5d 96 Mg O9gd 0 39EE JE aidl 2, el e W 4 mm 9fE Fe
o+ 2

Fo I1:  Tsfia aisd vE it $em fE= oF aEeEaan o0 w=eE o ot 0.5 § 2.5 kefem?

SURE HUA F A °, A9 50 T e 6 H weE 39 3 = i

(1) =W I &R [ 598 7

(2) = I ILEE 7o 7

(3)  =A IEA 2, e ®ee 11 7Tera 2
(4) = Ived 2, @i #e a8 2
(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=15141]
2[Option ID=15142]
3[Option ID=15143]
4[Option ID=15144]

Sl. No.87
QBID:1061062

Stream orders are defined as

(A) The smallest finger trip tributaries referred as Is* order stream

(B) When two If-order streams are joined in one. then resulting stream segment 1z termed
as I1™ - order stream

(C) When two II28 - order streams join in one. a II1*% - order stream segment 1s formed

D Only ITI* order atream counts as a It order strem

(E) Maximum stream orders are two

Choose the correct answer from the options given helow :

(1) (D). (A) and (C) only
(2) (E). (B) and (C) only
(3) (B). (C) and (D) only
(4) (A). (B) and (C) only
1)1
(2) 2
3) 3
4) 4




(A)  =Aam w79 39 1st Fifz gmn 61 7 Fiema 2w 2)

(B) =@ = TuH Fife F GEIET B UF °§ HF A 2, 79 TOMEEY S 91 96 @S H G Fie

(C) = =i fgdia Fife amaAt 1 v% ¥ T4 Fd 7 o1 UF gdia File g0 @S 56 2
(D)  Faet g i am wem Ffe 9w F =9 5 b s 2

(B)  s1fersam amn fi 2 &1 2

= fou o feweTl | | HE I 99 e

(1)  &a= (D). (A) 37 (C)
(2)  F= (E). (B) 31 (C)
(3) === (B). (C) 3R (D)
(4)  Fad(A), (B) 3R (C)
(1) 1
(2) 2
3) 3

(4) 4

1[Option ID=15145]
2[Option ID=15146]
3[Option ID=15147]
4[Option ID=15148]

Sl. No.88
QBID:1061063

Which of the following are the storage structures?

(A) CAS
(B) MAS
(®) CAP
(D) HEAT

(E) CROSS

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only
(2) (B). (C) and (D) only
(3) (C). (D) and (E) only
(4) (D). (E) and (A) only
(1) 1
(2) 2
3) 3
(4) 4




0 | I HUET WA B 7

(&)
(B)
(©)
(D)
(E)

CAS
MAS
CAP
HEAT
CROSS

=1 f2u e faeedi | 4@ wd 39 % 99 it

(1)

(4)

(1) 1
(2) 2
(3) 3
4) 4

4 (A), (B) il (C)
#ad (B), (C) it (D)
Fad (C), (D) it (E)
Fa (D), (E) 3t (A)

1[Option ID=15149]
2[Option ID=15150]
3[Option ID=15151]
4[Option ID=15152]

Sl. No.89

QBID:1061064

Water requirement includes

(A)
(B)
(C)
(D)
(E)

Losses due to evapotranspiration

Losses during the application of Irrigation water
Water required for land preparation

Water required for transplanting

Water required for leaching

Choose the correct answer from the options given helow :

(1)
(2)
(3)
(4)
(1) 1
(2) 2
3) 3
(4) 4

(A). (B) and (C) only
(B). (C) and (D) only
(B). (C). (D) and (E) only
(A). (B). (C). (D) and (E)




T T ATETIHAT H AMHA B -

(A)  TOE-ETES ® A S

(B)  To=TE 3 & FFTEN % FAV EE
(C) FHA = (Fla) F o s 7
(D)  WEREY F o0 sEvaE 9w

(E) &M % Tou A=y o=

= fou o faweTt 1§ @ °9E I w999 Fie
(1) A= (A). (B) 317 ()

(2)  ae (B). (C) ¥ (D)

(3) == (B), (C). (D) 11 (E)

(4) == (A). (B). (C). (D) = (E)

(1) 1

() 2

(3) 3

(4) 4

1[Option ID=15153]
2[Option ID=15154]
3[Option ID=15155]
4[Option ID=15156]

Sl. No.90

QBID:1061065
Standard PTO speed 1=

(&)
(B)
(C)
(D)
(E)

536 rev/imin

1000 rev/min
1440 rev/min
1600 rev/min

2000 rev/min

Choose the correct answer from the options given below :

(1)
(2)
(3)
4
1) 1
(2) 2
(3) 3
(4) 4

(A) and (B) only
(A). (B) and (C) only
(B). (C) and (D) only
(D) and (E) only




=% PTO 7fa 2|

(A) 536 rev/min

(B) 1000 rev/min
(C) 1440 rev/min
(D) 1600 rev/min

(E) 2000 rev/min

4= fou U faFen 0 9 wE I W 999 A

(1) &&= (A) 311 (B)
(2) A (A). (B) #H(C)
(3) %= (B). (C) AT (D)
(4)  %a= (D) #(E)

(1)
(2)
(3)
(4)

A W N =

1[Option ID=15157]
2[Option ID=15158]
3[Option ID=15159]
4[Option ID=15160]

Sl. No.91
QBID:1061066

Which unit operations are related to rice milling?

(A) Cleaning

(B) Shelling

(C) Brown rice

(D) Soaking in water

(E) Mixing red earth

Choose the correct answer from the options given below :

(1) (A). (B) and (E) only
(2) (B). (C) and (D) only
(3) (A). (B) and (C) only
(4) (C). (D) and (E) only
(1)
(2)
3)
(4)

A W N =




et e v e 2

(A)  TFrE
(B)  Temerwr samA

(C) 9 =
(D) = H A

(E) o 9ot =1 fasm

Hr= feu o fawedl 9 O o I F 999 Hitew

(1) %A (A). (B) 3 (E)
(2)  ae (B), (C) #R (D)
(3) &« (A). (B) 3R (C)
(4) 4= (C). (D) 31 (E)

(1)
(2)
(3)
(4)

A W N =

1[Option ID=15161]
2[Option ID=15162]
3[Option ID=15163]
4[Option ID=15164]

Sl. No.92
QBID:1061067

The following factors are counted to distinguish the small and large watersheds

(A) Size
(B) Overland flow
(C) Slope

(D) Channel storage

(E) Soil

Choose the correct answer from the options given below :

(1) (B). (C) and (D)
2) (C). (D) and (E)
(3) {A). (B) and (D)
(4) (A). (D) and (E)
(1)
(2)
3)
4)

A W N =




T 3T FE AT F I FOOTH F U BT G AT

(A) HTF

(B) A U9TE
(C) GG

(D) Y9I HUSHO

(B)y g
= fou o faweTt § 1 9 I w99 e

(1) = (B), (C) 31k (D)
(2)  #a= (C). (D) 3 (E)
(3) 9 (A). (B) 37 (D)

(4) == (A). (D) 37 (E)
1) 1

(2) 2

3) 3

(4) 4

1[Option ID=15165]

2[Option ID=15166]

3[Option ID=15167]
4[Option ID=15168]

Sl. No.93
QBID:1061068

A flow 1s said to be unmiform if

(A) Depth of flow remain constant

(B) Area of crozs-section remains constant
(C) Velocity of flow remains constant

(D) Hydraulic radius remains constant

(E) Water surface and channel bottom slope are parallel

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only

(2) (B). (C) and (D) only

(3 (B). (C). (D) and (E) only
(4) (A). (B). (C). (D) and (E)
(1) 1

2 2

3) 3

4) 4




YaTR THENE Fa @ 2 A

(A) = #Fi Tens e wd R
(B)  HwEI ®12 # &3 fem e
(C) va® = an fem T 2
(D)  gE=iem T T8 @ 2
(E) =1 ®ag # wome Gg1 @l @uie g gl
fr= fou mu fweal § @ | I = 99 S
(1) === (A), (B) #R(O)
(2) = (B), (C) 3 (D)
(3) a4 (B), (C), (D) 3R (E)
(4) (A, (B), (C). (D) = (E)
(1) 1
() 2
(3) 3
(4) 4

1[Option ID=15169]
2[Option ID=15170]
3[Option ID=15171]
4[Option ID=15172]

Sl. No.94

QBID:1061069

Match List I with List IT ;

(A)
(B)
(C)
(D)

List I

Curve number method
Percursion method
Dethridge method

Four point method

(D
(IT)
(ILT})
(IV)

List IT
Compute earthwork volumes
Measurement of water discharge

Runoff computation
Drilling method

Choose the correct answer from the options given below :

(1)
(2)
(3)
4)

(1) 1
(2) 2
3) 3
(4) 4

(A)A(IIL). (B)-(1I). (C)-(IV). (D)-(D)
(A)-(IT). (B)-(IV). (C)-(I). (DH-(1IL)
(A)-(IT). (B)-(D. (C)-(IV). (D)-(IIT)
(A)-(III). (B)-(IV). (C)-«(ID). (D)-(D)




g1 % @9 G111 1 faem i

i1 TA-11
(A) 7% T fafy (D =t = e =1 i
(B) e fafy (I) = Fgmo i Jr
(C) fefufew fafy (II1) =7= =1 e
(D) =m fag fafl (IV) s fafy
A o m ferhedl & © B 3w e i
(1) (A)-(I1D), (B)-(II), (C)-(IV), (D)-(I)
(2) (A)-(I1), (B)-(IV), (C)-(D), (D)-(IIT)
(3) (A)-(II), (B)-(I), (C)-(IV), (D)-(LII)
(4) (A)-(I1D), (B)-(IV), (C)-(1I), (D)-(I)
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=15173]
2[Option ID=15174]
3[Option ID=15175]
4[Option ID=15176]

Sl. No.95

QBID:1061070

Match List I with List I ;

(A)

(B)
(&)
(D)

TastI List IT

Raingauge ()  Measurement of velocity
stream or river

Lysimeter (II) Rainfall

Current meter (ITII) Evapotranspiration

Anemometer (IV) Wind velocity

Choose the correct answer from the options given bhelow :

(1)
(2)
(3)
(4)
(1) 1
(2) 2
3) 3
(4) 4

(A)-(IT). (B)-(I1I). (C)-(I). (D)-(IV)
(A)-(ID), (B)-(I). (C)-(IID). (D)-(IV)
(A)-(T). (B)-(II). (C)-(IV). (D)-(I1T}
(A)(ID). (B)-(I). (C)-(IV), (D)-(III)

of water




=11 % =1 G-I 1 e i

o1 Tt-11
(A) Fream (I) oW % 78 % 51 = 97 F1 7
(B) fomrsiemm (ID) 79t
(C) gm =T (IIT) =T AToeE=
(D) wEFT (IV) = #1371
49 for T awedt § O oE I W 999 Fiew

(1) (A)-(IT). (B)-(IIT). (Cy-(I). (D)-(IV)
(2) (A)-(II). (B)-(I). (C)-(II1). (D)-(IV)
(3) (A)-(I). (B)«(IT). (C)-(IV), (D)-(1II)
(4 (A)-(ID). (B)-(I). (C)-(IV). (D)-(1II)

(1)
(2)
(3)
(4)

A W N =

1[Option ID=15177]
2[Option ID=15178]
3[Option ID=15179]
4[Option ID=15180]

Sl. No.96
QBID:1061071

Matech List T with List IT ;

ListI List II
(A) ¢ index () Iz applicable to steady flow towards a
well in a confined aquifer
(B) Dilution technigque (IT) Is applicable to steadyv flow in an
unconfined aquifer
(C) Theim's equation (III) Average rainfall above which the

volume 1s equal to the run-off volume

(D) Dupuit’s equation (IV) Uszed for flow measurement

Choose the correct answer from the options given helow :

(1) (A)(II). (B)-(III). (C)-(D). (D)-(IV)
(2) (A)-(IIT). (B)-(IV). (C)-(ID). (D)-(I)
(3) (A)-(IV). (B)-(I1IL). (C)-(I). (D)-(1I)
(4) (A)-(IT). (B)-(I). (C)-(IV). (D)-(III)

(1)
(2)
(3)
(4)

A W N =




-1 % w2 g1 1 foem il

THI-I gH1-I1
(A) ¢ STTFROEH ()  ifea Seiga § v $aa 1 A6 2R 5= * o g
(B) AT awAT (ID  =ifad Joga | o vams = forw v
(C) i it (IIT) fTod =91 959 = = 9 @0 5 TR 2
(D) 3U52 T (IV) ETe H194 = fofe 39

49 fou U ke | 9 9 39 R =99 i

(1) (A)-(IT). (B)-(IIT). (C)-(I). (D)-(IV)
(2) (A)-(IIT), (B)-(IV). (C)-(II). (D)-(I)
(3) (A)-(IV). (B)-(III). (C)-(I). (D)-(II)
(4 (A)-(II). (B)-(I). (C)-(IV). (D)-(III)
(1)
(2)
(3)
(4)

A W N =

1[Option ID=15181]
2[Option ID=15182]
3[Option ID=15183]
4[Option ID=15184]

Sl. No.97
QBID:1061072

Match List I with List IT ;

ListI List II
(A) Specific vield (I) Discharge per unit draw down of well
(By Safe vield (I) Measure of water that can he removed
by pumping
(C) Specific capacity (ITII) Reciprocal leakage factors
(D) Hydraulic resistance (IV) Limit of withdrawal from a well

without depletion of the aguifer

Choose the correct answer from the options given below :

(1) (A)-(IT), (B)-(IV). (C)-(I). (D)-(IIT)
(2) (A-(IV). (B)-(IID). (C)-(D)., (D)-(II)
(3) (A)-(D). (B)«(II). (C)-(III). (D)-(IV)
(1) (A)(IID). (B)-(D). (C)-(ID). (D)-(IV)

1)1
(2) 2
3) 3
(4) 4




=11 % =1 gei-11 #1 e Fif

J_:Ff[_:[ Fﬁﬁ'-H
(A) fafre wfea (I) 9 1 FerEded & Hemo = ufd 5%
(B) wifem =fey (I) 799 ® =214 T 5eA H1 A7
(C) fafeme wfmr (IIT) =IFHaTa Fa
(D) wEETeE iy (IV) F0 & FA9a & fo1 sfaem Fre =1 =i
Hiw fou v fakeat | © " 3 1 9E Fila
(1) (A)-(II). (B)-(IV). (C)-(I), (D)-(I1II)
(2) (A)(IV). (B)-(ITI). (C)-(I). (D)-(IT)
()] (A)-(D). (B)-(II). (C)-(III). (D)-(IV)
(4) (A)-(IIT). (B)-(I). (C)-(II). (Dy-(IV)
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=15185]
2[Option ID=15186]
3[Option ID=15187]
4[Option ID=15188]
sl. No.98

QBID:1061073

Matech List I with List IT ;

(&)
(B)
()
(D)

List I
Aluminium

High carbon steel
Cast iron

Mild steel

List II
() Seed drill frame
(IT) Fluted feed roller
(ITT) Fly wheel
(IV) EKnife blade

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)
1) 1
(2) 2
3) 3
(4) 4

(A)-(IV). (B)-(ITT). (C)-(I). (D)H-(IT)
(A)-(IIT). (B)-(I). (C)-(IV), (D)-(II)
(A)-(II). (B)-(IV). (C)-(11I)., (D)-(T)
(A)-(T). (B)-(IT). (C)-(I1I). (D)-(IV)




T1-1 9% w0 gei-I1L 1 THers =it

-1 7111
(A) g @ = wgF w
(B) = FEATT i ) s s TR
(C) e o (IIL) a9 ==
(D) e = (IV) =F =75
Hr= fou o faweai § | =R I F 95T A

(1) (A)-(IV). (B)-(III). (C)-(D), (D)-(1T}
(2) (A)-(IIT). (B)-(I). (C)-(IV), (D)-(IT}
(3) (A)-(ID). (B)-(IV). (C)-(III). (D)-(I)
(4) (A)-(T). (B)-(IT). (C)-(IIT). (D)-(IV)

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=15189]
2[Option ID=15190]

3[Option ID=15191]
4[Option ID=15192]

Sl. No.99
QBID:1061074

Match List I with List IL ;

List I List IT
{A) Hammer Mill (I! Freezing
(B} Planck's equation (II) Impact
(C) Jenssen's equation (III) Auger Lift
(D) Screw conveyor (IV) Grain storage

Choose the correct answer from the options given below :

(1} (A)-(T). (B)«(I1). (C)-(I1I). (D)-(IV)
(2) (A)-(IT). (B)-(D). (C)-(IV). (D)-(III)
{(3) (A)-(III), (B)-(IV). (C)-(II). (D)-(I)
(4) (A)-(IV). (B)-(IID). (C)-(I}. (D)~(1I1)

1)
(2)
(3)
(4)

A W N =




-1 % T F=-11 1 e il

TH1-1 Ti-IT
(A) FaTsT T @O
(B) = T (I1) ==z
(C) TearEg T (IIT) =7 7%=
(D) F A (IV) 3F1= (FFT) JosEm
= fou T faweTt 1 @ °9E I 999 FIe
(1) (A)-(T). (B)-(IT). (C)-(IIT). (D)-(IV)
(2) (A)-(II). (B)-(I). (C)-(IV). (D)-(I1I}
(3) (A)-(IIT). (B)-(IV). (C)-(II). (D)-(I)
(4) (A)-(IV). (B)-(IIT). (C)-(I). (D)-(1T}
1) 1
2) 2
3) 3
(4) 4

1[Option ID=15193]
2[Option ID=15194]
3[Option ID=15195]
4[Option ID=15196]

Sl. No.100
QBID:1061075

Match List I with List IT ;

(A)
(B)
(C)
(D)

List I List IT

Parboiling {I) Dunnage

Dehvdration (IT) Rubber rolls

Bag storage (ITT) Hwdro-thermal treatment

Paddy milling (IV) Removal of moisture upto bone dry condition

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

A W N =

(A)-(I). (B)-(II). (C)-(III). (D)-(IV)
(A)-(TV). (B)-(I). (C)-(IT), (D)-(I1T)
(A)-(IIT), (B)-(IV). (C)-(I). (D)-(II)
(A)-(IT). (B)-(IIT). (C)-(IV). (D)-(I)




-1 % T gt 11 =1 firem $if

=1 -1
(A) e (I s
(B) forefieron (I) ™= Tem
(C) = qugmor (IID) et arfia I=m
(D) & T (IV) g =i &gt & gu- 6 forfa 7 gam
Arar faw o foredt & & @l 3 1w A

—

(1) (A)-(D, (B)-(ID), (C)-(I1D), (D)-IV)
(2) (A)-(IV). (B)-(D), (C)-(IT), (D)-(LIT)
(3) (A)-(ITD), (B)-(IV), (C)-(D). (D)-(IT)
(4) (A)-(ID), (B)-(I1I), (C)-(IV), (D)-(T)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15197]
2[Option ID=15198]

3[Option ID=15199]
4[Option ID=15200]




